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Ratio lines/employee. The ratio X1/X2 is, in case of self-financing, greater than in other optimisation strategies. This is in line with the need of producing as much capital available as possible: the main condition of this approach is that the Provider should have control upon the use of labour.

Unit investment. Either the lines to replace and the new lines to install are assumed to have the same purchasing cost (R10). It lets derive financial needs.

Financing available. Capital available for investment is the sum of profit and of the quota R1X1, deducted the capital expense to replace obsolete equipment. The recover of quotas relevant to previous borrowing accrues to available capital. 

Lines operated. The number of lines to implement are derived from available financing: priority is given to replace obsolete equipment, the remaining is invested in new lines. As, for a long period, financing available is not sufficient to cover replacement and expansion of plant, number of lines operated decreases during the same period. It recovers previous trend within a period of 5 years. 

Traffic. Assuming that the market has the same consumption trend revealed statistically, total traffic is the product of unit consumption per line by number of lines installed by self-financing the process.

Revenue. Income is the product of current unit price by the traffic carried by the network self-financed. Particular attention must be paid to the fact that, during the period where number of lines is lower than the original, the traffic and, thus, the revenue are lower than the original ones. This reduces the financing available.

Balance. The difference between revenue produced by the self-financed plant and the revenue actually earned by the Provider shows negative results from 1983 to 1987. After this year previous trend is recovered and the excess revenue accrue to the profit.

6. Conclusions

As a conclusion of the comparison made so far, two main comments may be raised.

The decisions of Provider took place in a scenario governed either by market forces and by Government Authority; the model should, then, be framed into the real situation that the Provider has to face. That is: respect of rules and satisfaction of objectives.

In particular, if the profit is the main objective of the Provider, the personnel policy  is an important part of the whole strategy; it has both impact upon the output provided and upon the earning. It should not be ignored as, even if the personnel is kept constant over time (which would be impossible in the long run) the salary per employee is sharply increasing making significant the relevant expenses.
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